Table S1. Definition of terms and formulae of JIP-test parameters and expressions

	Parameter
	Description

	
	

	
	Data extracted from the recorded fluorescence transient

	tmax
	Time Needed To Reach Fm

	VJ
	Relative Variable Fluorescence At J Step; VJ=(FJ–F0)/(Fm–F0)

	VI
	Relative Variable Fluorescence At I Step; VI=(FI–F0)/(Fm–F0)

	M0
	Initial Slope Of Relative Variable Fluorescence; M0=4(F300µs–F0)/(Fm–F0)

	N
	Number of reduction turnovers, oxidation, and re-reduction of QA in the time between turning on the light and reaching the FM; N = Sm M0 (1/VJ )

	Sm
	Normalized total complementary area above the O-J-I-P transient (reflecting multipleturnoverQA reduction events); Sm ≡ (Area)/(FM – F0 )

	
	

	
	Density Of Reaction Centres

	RC/CS0
	Density Of Reaction Centres Per Excited Cross Section; RC/CS0=Fv/Fm·(VJ/M0)·F0

	
	

	
	Yields or ratios of fluxes

	TR0/ABS
	Maximum quantum yield of primary photochemistry; TR0/ABS = [1-(F0/Fm)]

	ET0/ABS
	Maximum yield of electron transport; ET0/ABS = [1-( F0/Fm)] ·(1-VJ)

	ET0/ TR0
	Efficiency of a trapped exciton to move an electron into the electron transport chain further than QA–; ET0/ TR0 = (1-VJ)

	φRo
	Quantum yield for reduction of end electron acceptors at the PSI acceptor side; [1-( F0/Fm)]ψEo δRo

	φDo
	Quantum yield (at t = 0) of energy dissipation; φDo = F0/Fm

	
	

	
	Specific Fluxes Per Active Reaction Center

	ABS/RC
	Absorption Per Active Reaction Centre; ABS/RC=M0·(1/VJ)·[1/(Fv/Fm)]

	TR0/RC
	Trapping Per Active Reaction Centre; TR0/RC=M0·(1/VJ)

	ET0/RC
	Electron Transport Per Active Reaction Centre: ET0/RC=M0·(1/VJ)·(1–VJ)

	DI0/RC
	Dissipation Per Active Reaction Centre; DI0/RC=(ABS/RC)–(TR0/RC)

	
	

	
	Performance Index

	PIABS
	Performance Index On Absorption Basis; PI=(RC/ABS)·(TR0/DI0)·[ET0/(TR0-ET0)]

	PItotal
	Performance index (potential) for energy conservation from exciton to the reduction of PSI end-electron acceptors e.g. NADP; PItotal = (PIABS)(δRo/(1- δRo))

	RC/ABS
	Density Of Reaction Centres On Chlorophyll a Basis;RC/ABS=(RC/TR0)·(TR0/ABS)=[(FJ–F0)/4(F300μs–F0)]·(Fv/Fm)

	TR0/DI0
	Flux Ratio Trapping Per Dissipation; TR0/DI0=Fv/F0

	ET0/(TR0-ET0)
	Electron Transport Beyond QA¯; ET0/(TR0–ET0)=(Fm–FJ)/(FJ–F0)
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